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P. 3 3. What is the force F to hold two cylinders, each having a mass of 50
. kg. Take coefficient of static friction = 0.2 for all surfaces of contact.
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'P_ 1_" 4. A light metal panel is welded to two short sleeves of

LA 25.mm inside diameter which may shide on a 25 mm 400 mm
horizontal rod. The coefficient of friction between the .aj ¢ > lB
sleeves and the rod is 0.40. A cord attached to the |

corner C is used to move the panel along the rod.
Determine the range of values of 6 for which the panel
will start moving to the right.
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